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Identity Property
IxO= IxI= 2xl= 3xl= Uxl= 5xI= oxl= 7xI= 8xl= 9xl= |OxI=
Oxl= Ix2= Ix3= Ix4= IX5= IX6= IX7= IX8= Ix9= IXIO=
O+= l+l= 2:2= |3:3= [HH=  [65=  |6+6= |7+7= 88= |9:9=  [I0-0=
2= 3= Y+= 5+= 6+= 7= 8= 9+|= [O+l=

Zeros
Ox0= |2x0= |3x0= [4xO0= [5%x0= |6x0= |7x0= |8x0= |[9x0= [lOxO=

Ox2= |[Ox3= [Ox4= |Oxb= |Oxb= |Ox7= |Ox8= |Ox9= |OxIO=

0+2= |0=3= |04= |0<6= [0+6= |0<7= |0-8= |0+9= |0-I0=
Multiples of 10
2x10= |3xI0= |4xI0O= [5xI0= [6XxI0= |7xI0= |8xI0= |9xI0= |IOxIO=
0x2= |IOx3= |IOx4= [IOx5= [IOx6= |lOx7= |IOX8= |lIOx9=
20+2= |30+3= |HO<4= |50+b= |60+6= |[70+7= |80+8= 1[90+9= [l00+l0=
2040= |3040= [H40<I0= ([50+0= |60+0= |70+l0= |80<0= |[90+I0= Key:

Third Grade

Multiples of 5 Fourth Grade
2x5= |3xb= |Hxb= [bxb= |6x5= |7/x5= |8x5= |9xb=
5x2=  |5x3= |Sx4= 5x6= |5x7= |5x8= |5x9=
0:2= [I5+3= |20:4= [25+b= |30+6= |35+7= [HO+8= |45+9=
0<5= |5<5= |20:5= 30+6= |35:5= [H0:5= [H5:5=
Double (Multiples of 2) Threes
2x2= |3x2= |Hx2= |6x2= |7x2= |8x2= |9x2= 3x3 3x6 3ax7 3x9

2x3= |2xH= |2xb= [2x7= |2x8= |2x9= 6x3 7x3 9x3
Y:2= 6+3= 8+H= 2+6= |H<7= |l6=8&= [I8+9= 9-3 18+3 21-3 27+3

6+2= (8:2= |I2+2= |H<2= |l6+2= |I8+2= 186 21-7 279




Double Double (Multiples of 4)
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Double Double Double (Multiples of 8)

AxH= UxY= oxt= |7xH4= 8xH= Ax4= Ax8= 6x8= 7%8= 8x8= 9x8=
Ux3= Uxo=  |Ux7= Ux8= Ux9= 8x3= 8x6= 8x7/= 8x9=
2:3=  |los4= |24H+6= |28+7= |32+:8= |36+9= 24-3= |H8+6= |56+7= |6H4+8= |72+9=
|2+H= 244= [28+H= |32:4= |36+H= 24-8= [48+8= |56+8= 72+8=
Build Down/Triple 3s (Multiples of 9) Build Up/Double 3s (Multiples of 6) LAST FACTS
7x9 9x49 6x6 ox7 6x9 7x7
Ax7 7%6 Ax6
63+7 89 36+6 Hz-+7 546 Hqa-7
63+9 42-6 [54+9
Key:

‘ Third Grade \

Multiples of |l

Multiples of 12
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